Name Kt /\ /{ Date

Algebra 2 Functions lﬁview #1 Period

1. Which relation is a function?
(1) {(1,5), (2,6), 3,6), (LL7)}  (3) {(-1.6), (2,3), (2,5), (1,7}

A
/@) {(47), (2.1). (-3.6), B4} (4) {(2,2),(0,5), (5.0), 2.-1)}
\or”

2. A mapping is shown in the diagram below.
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This mapping is

(1) A function because Feb has 2 outputs, 28 and 29

(2) A function because two inputs, Jan and Mar result in the output 31

(3) Not a function because two inputs, Jan and Mar, result in the output 31

@) Not a function because Feb has two outputs, 28 and 29

3. Which graph does not represent a function?
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4. Compared to the graph of f(x) = x?2, the graph of g(x) = f(x — 2) +J%is the result of

translating 7' (x)
(1) 2 units up and 3 units right @2 units right and 3 units up
(2) 2 units left and 3 units up (4) 2 units down and 3 units left

5. The vertex of the parabola represented byf(x) = x? — 4x + 3 has coordinates (2, 1) The

coordinates of the vertex of the parabola defined by g(x) = 3 f(2x)is a
// \ z) \x L{ — 5 )
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6. The graph of p(x) is shown below. On the same set of axes, sketch g(x) = —p(x + 2) — 1.
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7. If k(x) = 2x% — 3+/x, then k(9) =
(1315 (2)307  (3)159 (/153
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8. The function f(x) = x* — 3x + 5 maps the domain given by {-3,0, 2, 8}. State the range

oLy @) Uy +ablg v s 7 i



9. Algebraically determine whether the function j(x) = x® — 4x i is odd, even, or neither.
- 10X) = (-x) 7 -46x)
J(’x): X+ Y X OC@{
10. Which function is even?

@fCX) =x*—-4 Qgx)=x-2) Qhl)=2*+3x"-1 @ jx) = |x+1

11. The inverse of 2x + 3y = 6 is
(Dy=-3x+2 @y=-—-§-x+3 B)y=3x+2 @y=:x+3
nygx: e
. = -3 X +0b
12.1ff(§)=(x—3)3+1,ﬁndf-1(x). e T “"5
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13. Given f(x) = 2x? + x — 3 and g(x) = x — 1, find: _ Dy
a) f(x) - g(x) w) (x- MQ)‘ rx-2) b) X«l]o’zxﬂx -3
b) £(x) + g(x) AxZex ‘3" - X TR

IQX e l‘/X"gi] 2 xE 3

©) f(x) - g(x) S
(,w Xx +X-3 - DB ;))(2.-2 ' O
P rx 3 -X | [ [2xr3 \

14. Determine the solution set of the equation x —Vx + 3 = 3 2
q % _ (_k X + C/ = X T ?

LX j) L\i)&r3> . ~X 3
(X-2)(x-3) = x+3 X = Ix+b=0

1 5
15. Simplify (8x76y?)73 and write in simplest radical form. _ C x_(j) ( % D = O

L N\ ' (e ﬁ st
- 1 -2 252 T A X= (@ =
(Bz«"‘“vs Y N s |




Name Date

Functions Review Sheet #2 Period

1. The graph below is of y = f(x). )
Ya

a) Findf2) = &

b) Find f(-4) = O

¢) Find all values when flx)=0 P / ) X
U’ \

d) State the domain of f(x) |
[-4, G :l

e) State the range of f(x) ¥
[-2,4]

2. Which statement is true about the graphs of f and g shown below?
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(1) Neither f nor g is a function (3) g is a function and f is not a function.
@ fis a function and g is not. (4) Both f and g are functions.

(8]

. If the domain of f(x) is -4 < x < 3 and the range of /'(x) is -8 < y < 2, then state the
domain and range of g(x) if g(x) = f(x —2) +5.
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4/ Which diagram represents a relation in which each member of the domain corresponds to
\, oneand only one member of the range?
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5. Given the graph of the function f (x) shown below, sketch the graphs of:
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6. Algebraically determine if the function f(x) = —x +x is odd, even, or neither.

Justify your answer. {)(..)() _ ( X ( )() 3

(-x) = X - ‘xf’ Ocd

7. The point (8, -5) is on the graph of y = f(x). If the transformation of y = f(2x) + 7 i s

i

applied, then the ne t B i
n the new point is (_9 ) - :R \{f7
(1) (23, -5) 2)(16,2) (3)(11,-5) ) (4.2)
8. If f(x) = — find the value of f(4) + f(2) ’?; Y Y
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9. How does the graph of g(x)=-2f(x+5) change the graph of y = f(x)?

(1) The graph of y = f(x) is shifted 5 units right, stretched vertically by a factor of 2 and

reflected about the x-axis.
(2) The graph of y = f(x) is shifted 5 units right, stretched vertically by a factor of -3 and

. reflected about the y-axis.
y The graph of y = f(x) is shifted 5 units left, stretched vertically by a factor of 2 and

reflected about the x-axis.
(4) The graph of y = f(x) is shifted 5 units left, stretched vertically by a factor of 2 and

reflected about the y-axis.

10. State whether the following functions are even, odd, or neither? L YOL \0 . o *\)
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11. For what value of f(x) = 4x -10 does lf(x) = f(3x)? %—%5
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. 12. On the grid provided, graph f(x) = (x — 2)2 + 3 over the mtervw ______ N M
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